HFHE/\F—> / No Carrying Handle pattern
4} £8 / External view E view

D view A view

)
M
-

CH

D+16 W
(150~199)

F view

[

G ——

KIA—F—H—FFT—RE£FHD T,

X Corner guard should fasten together with enclosure when assembling.

HEBAZA / Components
No. 2 / Part name #= / Pcs # & / Material £& - RMEALIE / Color:Finish
1 $H/3— / Top Cover 1 AT LR / Stainless steel SUS304 t1.0 BA
2 Y ¥— / Base 1 AT X / Stainless steel SUS304 t1.0 BA
3 a—+—#H—F / Corner Guard 8 TPE TS99+ L—%AE—-LYEK / Black-Gray-Navy*Red
4 BAFERGRANRFRILEMS x 8) 18 ATULR LR
screw (Hexagon socket head M4 — 8) Stainless steel Unfinished
L)
2
C view B view
43 43
=
[ Sl
| |
| |
b 4 L
D
(300~400)
7—AEIZE MCGS - - -I'N
Product Number W H D ane DFERe

Color Code Carrying Handle Code

W.H,D~T ;% HIBREEFH / Dimension limit range

W

H

D

150~199

80~124

300~ 400

ITAKACHI' MASHINTFERIE

fn4a/Title

A—F—H—FRHRTULRII—H AR 7= C)[:]

__ 45 (BEREOD) / Color Type (Er:d of product number ) . TAKACH! ELECTRONICS ENCLOSURE CO.. LTD. CUSTOM DIMENSIONS CASE with CORNER GUARD

GL% / Code — 2&17-'-( / Body :I_j-_jj__F / Gomer guard BF / Carrying Handle R/ Approved %X /Checked #IX/Created R /Product number RFE/Scale
SB-N AT LR / Stainless steel 75v% / Black 72L / None
SG-N ZF LR / Stainless steel ZL— / Gray L / None MCGSO-0O-0 (W=199,D=300)
SN-N ZF VLR / Stainless steel FAE— / Navy #L / None iR 1% H e L e
SR-N ATUL X / Stainless steel LYk / Red #zL / None {ERL B /Date 2019/02/22




EF#/\2—> / No Carrying Handle pattern

$17\— / Top Cover

E view

15

4-M4x0.7/8—) 5T
4-M4x0.7Burring

D view A view

F view

15

15

15

3-@5.5

C view

15

2-M4x0.7/8—1) 5 T

2-M4x0.7Burring

15

15

15

B view

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
A—F—H—FKHRATFULRAD)—H A X5 —XA
CUSTOM DIMENSIONS CASE with CORNER GUARD

o]

A& 8/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCGSOI-O-0O(W=199,D=300)

RFE/Scale

{EBL B /Date 2019/02/22

2 /6




HFHE/\F—> / No Carrying Handle pattern

<%—<, / Base

D view

N5

E view

Te)
4-M4x0.7/8—1) 5 M
4-M4x0.7Burring
o
A view
]
F view

13.9

13.9

|
L

|
i

W-2.2

C view

3-M4x0.7/8—1> 5T 10

3—-M4x0.7Burring

H-1.1

B view

10
i N
©
15 15
D
4 /Title

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—FKFRFULRAI)—H A X5 —XR

o]

CUSTOM DIMENSIONS CASE with CORNER GUARD

R/ Approved

iR

18X /Checked #I X /Created

1% H ES

R /Product number

MCGSOI-O-0O(W=199,D=300)

RFE/Scale

{EBL B /Date 2019/02/22

3 /6




HFFY/\2—> / Pattern with Carrying Handle
54 %5 / External view

D view

E view 26

N e

A view

H+16
43

(150~199)

F view

[

)

KIA—F—H—FFTr—RERHED TS,

X Corner guard should fasten together with enclosure when assembling.

200

H
(80~124)

FERANZ / Components

No. & F5 / Part name = / Pcs # & / Material £ - REIE / Color:Finish
1 $H/3— / Top Cover 1 RATUL R / Stainless steel SUS304 t1.0 |BA
2 Y +¥— / Base 1 RTUL R / Stainless steel SUS304 t1.0 |BA
3 d—73—H—F / Corner Guard 8 TPE 75995 L—-RAE—-LvE / Black*Gray-Navy*Red
4 BAFERGRANRFRILEMS x 8) 18 RAFULR E: J
screw (Hexagon socket head M4 — 8) Stainless steel Unfinished
HYZF / Carrying Handle 1 PU., PA. ABS, Steel J5w4 -4 L— / Black-Gray
6 BFRAFER (FRZYEL S MS x 8) 4 % =@onAr—k
screw (Panhead tapping M5 - 8) steel Trivalent Chromate
1
3
[
6
C view B view .
(Y
o e — @
(i il
| |
| ki 1/! |L \=_ﬂ|
______ B | ]
D
(300~400)
E view .
B view

r—REIZE MCGS -

Product Number

H D

BES WMFILS

Color Code Carrying Handle Code

W.H,D~T ;% HIBREEFH / Dimension limit range

itk (BFEXREDOQ) / Color Type (End of product numberd) w H D
585 / Code K / Body O—F—H—FK / Comer guard | ERF / Carrying Handle 150~ 199 80~ 124 300~400
SB-B AT LR / Stainless steel 735v% / Black 7594 / Black Eh4 /Title
SG-B ZFUL R / Stainless steel 4L— / Gray F5v% / Black [TAKACHI] #R4#tshFEHTE A—F—H—RKR/RFULR I —H AL X5 —XR © |:]
SN-B Zv:-:/lzx / Sta?nless steel *4E‘T / Navy 7:?“/'7 / Black TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CUSTOM DIMENSIONS CASE with CORNER GUARD =
:2_2 iz_-/ll:; ; :tam:ess Stee: jl/‘}; // FE:Td k 77?:7 j Elack 7 ER/Approved %X /Checked #IX/Created R /Product number RE/Scale
- TV tainless stee A ac| - ray
SG-G ATUL R / Stainless steel 4J'L— / Gray 4'L— / Gray MCGSD_D_D (Wé 1 99,D g 300)
SN-G ATUL X / Stainless steel FAE— / Navy J'L— / Gray PR H#H x - 4 / 6
SR-G AT LR / Stainless steel LvF / Red J'L— / Gray fERLE /Date 2019/02/22




HRFEFY/\2—> / Pattern with Carrying Handle

E view

$17\— / Top Cover

15

4-@5.5

4-M4x0.7/8—1) 45T
4-M4x0.7Burring

15

D view A view

F view

15

15

127.5 28

28

C view 2-M4x0.7/\—Y L5 InT B view
2-M4x0.7Burring
15 15
o
3-@5.5
Te]
= 4
fnd/Title

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—FKFRFULRAI)—H A X5 —XR

o]

CUSTOM DIMENSIONS CASE with CORNER GUARD

A& 8/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCGSOI-O-0O(W=199,D=300)

RFE/Scale

{ERL B /Date

2019/02/22

5 /6




HRFEFY/\2—> / Pattern with Carrying Handle
vx—< / Base

E view
13.9 13.9
2 ————— 7117 &
4-M4x0.7/.8—1)> 45T
4-M4x0.7Burring
e L o
D view . : B vi
A view C view view
10 10
3-M4x0.7/N\—1)> 4 inT
- 3-M4x0.7Burring
T
T
P ! &N I)es- N ~
©
15 15
W-2.2 D
F view
md/Title

BRASMINTFEHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—FKFRFULRAI)—H A X5 —XR
CUSTOM DIMENSIONS CASE with CORNER GUARD

o]

R/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCGSOI-O-0O(W=199,D=300)

RFE/Scale

{EBL B /Date 2019/02/22

6 / 6




